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Question 1
Question Type: MultipleChoice

What team Is created as part of the Initial Installation ot Cloud Pak for In-tegration?

Options: 
A- zen followed by a timestamp.

B- zen followed by a GUID.

C- zenteam followed by a timestamp.

D- zenteam followed by a GUID.

Answer: 
A

Question 2
Question Type: MultipleChoice



The following deployment topology has been created for an API Connect deploy-ment by a client.

Which two statements are true about the topology?

Options: 
A- A. Regular back-ups of the API Manager and Portal have to be taken and these backups should be replicated

to the second site.

B- This represents a Active/Passive deployment (or Portal and Management ser-vices.

C- This represents a distributed Kubernetes cluster across the sites.

D- In case of Data Center J failing, the Kubernetes service of Data Center 2 will detect and instantiate the portal and management

services on Data Center 2. D E. This represents an Active/Active deployment for Gateway and Analytics services.

Answer: 
C, D

Question 3
Question Type: MultipleChoice



When upgrading Cloud Pak (or Integration and switching from Common Services (CS) monitoring to OpenShift monitoring, what

command will check whether CS monitoring is enabled?

Options: 
A- oc get pods -n ibm-common-services | grep monitoring

B- oc list pods -A | grep -i monitoring

C- oc describe pods/ibm-common-services | grep monitoring

D- oc get containers -A

Answer: 
A

Question 4
Question Type: MultipleChoice

Which of the following contains sensitive data to be injected when new IBM MO containers are deployed?



Options: 
A- Replicator

B- MQRegistry

C- DeploymentConflg

D- Secret

Answer: 
A

Question 5
Question Type: MultipleChoice

The OpenShift Logging Elasticsearch instance is optimized and tested for short term storage. Approximately how long will it store data

for?

Options: 
A- 1 day



B- 30 days

C- 7 days

D- 6 months

Answer: 
C

Question 6
Question Type: MultipleChoice

What type of storage is required by the API Connect Management subsystem?

Options: 
A- NFS

B- RWX block storage

C- RWO block storage

D- GlusterFS



Answer: 
C

Question 7
Question Type: MultipleChoice

Which statement describes the Aspera High Speed Transfer Server (HSTS) within IBM Cloud Pak for Integration?

Options: 
A- HSTS allows an unlimited number of concurrent users to transfer files of up to 500GB at high speed using an Aspera client.

B- HSTS allows an unlimited number of concurrent users to transfer files of up to 100GB at high speed using an Aspera client.

C- HSTS allows an unlimited number of concurrent users to transfer files of up to 1TB at highs peed using an Aspera client.

D- HSTS allows an unlimited number of concurrent users to transfer files of any size at high speed using an Aspera client.

Answer: 
D



Question 8
Question Type: MultipleChoice

An administrator is deploying an MQ topology, and is checking that their Cloud Pak (or Integration (CP4I) license entitlement is covered.

The administrator has 100 VPCs of CP4I licenses to use. The administrator wishes to deploy an MQ topology using the NativeHA

feature.

Which statement is true?

Options: 
A- No licenses, because only RDQM is supported on CP4I.

B- License entitlement is required for all of the HA replicas of the NativeHA MQ, not only the active MQ.

C- A different license from the standard CP4I license must be purchased from IBM to use the NativeHA feature.

D- The administrator can use their pool of CP4I licenses.

Answer: 
B



Question 9
Question Type: MultipleChoice

If a CI/CD pipeline needs to pull an image from a remote image repository, what OpenShift component is required in order to securely

access a remote im-age repository?

Options: 
A- ConfigMap

B- TLS Certificate

C- Secret

D- API Key

Answer: 
C

Question 10
Question Type: MultipleChoice



Which statement is true regarding the DataPower Gateway operator?

Options: 
A- The operator creates the DataPowerService as a DaemonSet.

B- The operator creates the DataPowerService as a Deployment.

C- The operator creates the DataPowerService as a StatefulSet.

D- The operator creates the DataPowerService as a ReplicaSet.

Answer: 
B

Question 11
Question Type: MultipleChoice

For manually managed upgrades, what is one way to upgrade the Automation As-sets (formerly known as Asset Repository) CR?



Options: 
A- Use the OpenShift web console to edit the YAML definition of the Asset Re-pository operand of the IBM Automation foundation

assets operator.

B- In OpenShift web console, navigate to the OperatorHub and edit the Automa-tion foundation assets definition.

C- Open the terminal window and run 'oc upgrade ...' command,

D- Use the OpenShift web console to edit the YAML definition of the IBM Auto-mation foundation assets operator.

Answer: 
A
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